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1. Testing Environment for CTIP
2. Testing Strategies




1. Test Environment for CTIP

OS
Language
Unit Test Tool
Build Automation
SCM Tool
Cl Tool
Web App Server

RE Tool

Windows 7
Java

JUnit

Ant

Visual SVN
Hudson
Tomcat

JFeature



2. Testing Strategies
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* Our Testing Strategies

— Entire Testing
* Black Box Test

— 15t Testing

e Program test oriented(by document)

— 2" Testing

 Functional test oriented
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1. 1sttesting feed-back
2. New bugs
3. Unit testing




15t testing feed-back

* Errors & Bugs
— Usecase. Display Parking Floor
— Usecase. Sort Data
— Modification complete

* Confirm Requirements
— Needs function that terminate all of windows
— Modification complete



15t testing feed-back

* Document expression faults & Misunderstanding
— Usecase. Select Parking Lot
— Usecase. Skip Receipt
— Usecase. Print Receipt
— Usecase. Parking Complexity Visualize

— Modification complete



New bugs
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New bugs(cont.)
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Unit Testing
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public class Admin_ testlogin {

ParkingArea pa;
Admin admin;

* TJest case N
public void init(){

. pa = new ParkingArea();
|0g|n() admin = new Admin(pa);
h

fiTest

public void login_test _rightpwd(){
gssertTrue(admin. login("1234"));

I

@Test

public void login test wrongpwd(){
gssertFalse({admin.login("123"));

}

@Test

public void login_test _emptypwd(){
gssertFalse({admin.login(null))

}



Unit Testing(cont.)
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public class Admin_testChangePld {

ParkingArea pa;
e Test case Admin admin;

Before

cha ngePW() public void init(){

pa = new Parkingfrea();
admin = new Admin(pa);

¥

@Test

public void changepw test() {
admin.changePW("123");
assertEquals("123", admin.adminPW);



Unit Testing(cont.)

i @Test
public wvoid testlLeocadPath() {
String result;

° TeSt Case result=ue.loadPath();

Assert.agssertEquals("71|61|51|41|31|21|",result);
LoadPath() }

i [@Test
public void testlLoadComplexity() {

Loa d CO m p I eXity() int result=ue.loadComplexity();

Assert.assertEquals(@,result);

. ¥
LoadPermit() ) @Test
public wvoid testLoadPermit() {
String result;
result=we.loadPath();
Assert.gssertEquals("71|61|51|41|31|21|",result);

¥



Unit Testing(cont.)

— (s Nawgator mu Junit 52 1 =0
qushed after 0.02 seconds
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52_1 Survice.UserEnterTest [Runner: JUnit 4]
eE] testSelectParkingLot (0.000 s)
eg] testLoadPath (0.000 s)

~ ,-\-s-»

] testLoadComplexity (C.00C s)
ek testLoadPermit (C.0C0 s)

Eit] System.ParkingLotTest [Runner: JUni
E;_, testGetCarInfoNull (C.CCC 5)

Eiel Survice AdminTest [Runner: JUnit 4] (0.
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el login_test_emptypwd (0.C00
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Unit Testing(cont.)
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. Test Report

Requirement Coverage

Number of Requirements 9
Re po rt Unique Test Methods 11
- Requirements:Test Methods 1:1
Requirement Coverage Summary Ratio
Missing Test Methods None

Semuacy (8) IS opped Test Methods  None

Requirement Coverage Details

Sr# Category Coverage
2 1 UserEnterZ (2)

2 ParkingLot (1)

3. AdminZ (2)
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1. 15ttesting feed-back
2. Unit Testing




15t testing feed-back

* Errors & Bugs

— mysqgl-connector-java-5.1.18-bin.jar I} =7} F= L S L}
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15t testing feed-back

= Debug - team_4_test/src/DataBases/DEBE java - Eclipse SD
File Edit Source Refactor Mawvigate Search Project Run  Window Help

cS - = %O - @™o - e FE W e e -

¥ Debug E2 O | @_@Z%l_‘?_ﬁzv:ﬁ Gad= Wa
DB{Object). <init=J line: 20 [local variables unawvailable] - marm
DEB.=init=0 line: 10 P
Accountwvalidate(String, String, String) line: 16
Manager.Login(String, String) line: 12
Userinterface actionPerformed(ActionBEvent) line: 211
JButtoniAabstractButton) fireactionPerformed{ActionEvent) line: not awvailable
AbstractButton$Handler actionPerformed(ActionEvent) line: not available =
DrefaultButtonmModel fireActionPerformediActionEvent) line: not available e
CrefaultButtonhodel setPressed(boolean) line: not awvailable
BasicButtonlListener. mouseReleasediMouseEvent) line: not available

= JButtoni{Component).processhouseEvent{MouseEvent) line: not available
o = B ttrnd T mrn msnent nrneocchdnncaCuantohdn caCuanty linoes et saailabkble . T -
1J] DB java 3 [¥] Accountjawva AX] Item_search jawva AX] mManager java AX] User jawa AX] Mainwindow java @] makeaAccountjar

4 dmport jawva.sql.DriwverManager;

S  dmport java.sql.PreparedStatement;
& dmport java.sql.ResultSet;

7 dmport jawva.sql.Statement;

import java.util.Vector;

public class DB

1

private String driwver = “com.mysql.jdbc.Driwver

private String url = "jdbc:my=sql: /iRl - 326/ mry o b e
private String user = root™ ;

private String pwd = "a2es”;

private int IDMNum;

5 Al 2| ElO| 7=t localhost2 A™H S
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Thank you

by. Team 1




